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Scclion-A (i) userdate (i) metadata
Multiple Choice Questions : (iii) reports - (tv) Indexes.
Q.1. Choose the correct answer from the following : Ans. (i) reports
(a) main ()isa/an _
5 (D Arowinarelationis called
(i) keyword (i) object i -
: : (i) Data . s (ii) Tuple
(iii) function @) noncofthese ’
Ans. (iii) function (iii) Domin - (iv) noneofthese
() Destructor has the same name as the constructor and it Ans. (i) Tuple
is pr'cceded by ) (m) The Boolean ExpressionA. (B.C)=A.B).C is.called
?i%i) J (i) @ () AssociativeLaw (i) CommutativeLaw
Ams. (i) ~ ™ 3 (iiiy AbsorptionLaw () Distributive Law
(c) Asctoflogical operators is Ans, () Assaciative Law
@ H-*%4L1% (i) >>=<==,!1= (n) Tautology means a Boolean Expression that always
(iii) &&, ||, ! W) 7 results in
Ans. (i) &&,||! G true (i) false
@ Which of the following is not a feature of C++? o ‘ eof these
(i) Operatoroverloading (i) Inherithance (i) both (a) and (b) A on
(i) Namespace () Reflection. Ans. (i) true
Ans. (iv) Reflection. (0) = \;I....isanetworkof networks.
(&) Which of the following is not a type of constructor, - () Internet (i) Intramet
(i) Copy constructor -. - (iii) Webpage (iv) Browser
(ii) Parameterised constructor :
(iii) Default constructor () Friend constructor Ané, ) .Intcmet . -
Ans. (iv) Friend constructor. ® \thlch of _lhe following layers is not in OSI model.
() Which of the following is not the member of c|ass” » (i) Physical layer (i) Internetlayer
(i) Static function (i) Friend function - %y (iii) Network layer (iv) Transportlayer
(iii) Const function (iv) Vlrtua[fqncuon_ Ans. (ii) Internet layer
&')'s' Whichofhe followi i provides facltyof SEEtion a1
ich of the following concepts provides facili ; o
using object of one class inside another class ? _ NelySHortAmSNerQuetong; '
() Encapsulation (i) Composition Q.2. Write two major differences between object Oriented
(iii) Abstraction (iv) Inhcritnnce. Programming and Procedural Progrmming,.
Ans. (i) Abstraction - Ans. |Procedural Programming | ObjectOriented Programming
(h) which of the following sorting algorithms is of divide- (1) In this Programming (1) Inthis Programming
and-conquertype? = - o Language, Language
E')) (I;ul')bllc 50'? ‘ ? ')) Kilsletlr;?;ei:r ’ Program is divided into Program is also divied into
11) Quick sor C AV
‘ samall parts known as small parts
Ans, (i) Quick sort. . . .
Function. known is Objects.
tin the list is ]
() Theoperation of processing each element in the list i 5 nlhfs programming (2) In this programmin
KngWnay Language Language :
i) Srotin (i) Merging AT . s @3, 4
g)ii) lnsertiig (v) Traversal Progrl?m 1; divided into Prog;lram r:s also divided intq
) samall parts small parts
(Ans, (iv) Traversal _ known as Function. known as Objects.
@  Transformation of infix operation (A+B*C-DYE*Fto example:C, VB, For example: C++
post-fix is . I FORTRAN Pascal JAVA, VB.NET.
H *
() ABC*+D-EFY| (i) | Q.3. Whatis thedifference bet“eenakeywordandamdentll' er?
(iii) ABC *+D-EF|* () noneof these Ans. Keywords are predefined reserved words, which possess
Ans. () ABC*+D-EF*| special meaning for programming language this meaning
(k) The following are components of a database except can't be changed.
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Whereas an wdentificr is n unigne name given to a
particular vanable, function or dlase name in the
propramming languape
Q.4. Fvalunte the following € 4 experscionswhere a, b, e are
integersand L f are NDonting point numbes. The values
nre
A=l h=8andd- 1.5
Rlc=a+44h* 444
M{-h*hid a4 p
Ans. (a) Viloe 18
M) Value. 20
Q.5 \_\'hm data types wonld vou use to represent the following
items 7
(") The nverge marksin a class
®) The number of studentsin the class
(¢) The registration Ietterof a car
(d)  The population of a city.
Ans. (a) float
(tb) intcger
(c) String
(d) integer
Q.6. List fourimportant operations associated with linear data
structure. Describe cach.
Ans. There are four important operations that can be o
performed on Linear data structure
1. Insert: used to inscrt a date.
2 Delete: used to delete a data.
3. Sort: used to sort the data.
4. Scarch: used to search a data.
Q.7. Write an algorithm to count total number of nodesina
linked list. '
Ans. Step I:count=0
Save = first
Step 2: repeat step 3 while save » null
step 3: count + 1 ' w
save=save->link -
step 4: return count S I i
Q.8. How many types of users workon
Ans. There are four types of Database useers
(1) Database Administrator user
(2) Database Configuration/Designer user

(3) End user Y

(4) System Analyst and Application programmcr
Q.9. Prepareatruthtablefor xyz + YZ+XZ-
Ans. hand written answerg .
Q.10. What are repeaters ?

Ans. A repeater is an electron
channel that increases the power of a signal and retransmits

it, allowing it to travel further with storng signal.
Section-C
Long Answer Questions :
Q.11. What are the advantages offered by inheritance?
Ans. Inheritance is a way of creating a new class from existing
class 1o inherit all the properties and behavior of the existing
class, where existing class is known as base claas and new

class is known as a derived class.

database system? |

ic device in a communication

.12, Write the output of the fol

Ans,

Q.13. Write aprogramin

- L - - -
Advantages of inheritanes bility faciliti
Code rensahllity: I ||mw|f"l”""‘ reusability facilities by
dronved ¢ laen from an exiating class .
I atendallity: we can extend the “'ﬂinz
Class by come nes

Malntalnability: itiseas

features in NEW class. ‘
v to dehug and MAIntain a progra,

lowing ,.mgmmp:

finclude < iostrem. h -

void maim()
! 4

intx 5,y 5

cout- - x'';
cout- - """,
cout- - Hx;
cout- """

cout- -yt ot e f Ay
12. Output.

57,66 ' /
C++to find the sun ofany five numbery

using constructor member functions.

Ans. #include<iostream.h>

‘\‘

#include<conio.h>

class sum

{

private:

inti, n[5],s; )
public:

sum ()

{ .

cout<<"Enter any five numbers=";
for(i=0;i<5;i++)

{

cin>>n[i];

}

b

void process ()

{

s=0;

for(i=0;i<5;i++)

{

s=s+n[i],

} S ;
cout<<endl<<"Sum of five number="<<s;
}

5

void main ()

clrser ();

sum obj;
obj.process();
getch();

}

output:
Enter any five Numbers:20

S8aY

um of five number:200

[7¢]

i

ol



Q. 0.14. What is an inheritance ? What are the different lypc1 of

~ Ans.

inheritance supported by C++?

Inheritance is a way of creating a new class I‘rom cxisting
class to inherit all the propertics and behavior of the existing
class, where existing class is known as base class or parent
class and new class is known as a derived class or child
class.

Types of inheritance in C++

() Single inheritance

() Multilevel inheritance

(i) Multiple inheritance

(iv) hierarchical inheritance

(v) hybrid inheritance

Q.15. An electricity board charges according to following rates:

Ans.

For the first 100 units - Rs, 2 per unit

For the next 200 units - Rs. 3 per unit

Beyond 300 units - Rs. 4 per unit

Allusers are charged meter charge also, which is Rs. 50
Write a program in C++ to read the number of units
consumed and print out the charges.

#include<iostream h>

#include<conio.h>
void main()

int unit,e bill;
cout<<"Enter the consumed unit;";
cin>>unit;
if (unit<=100)
e_bill = 50+unit*2;
else
e_bill=50+200+(unit-100)*3;
} "
else if{lunit<=300)
e_bill =50+200+600-+(unit-300)*4;

cout<<"your electricity Bill is: "<<é_bill; ‘
getch();
}

16.Ans:

Q.16. Evaluate the following postfix expressmn usmg a stack

and show the contcnts of stack after execution of each

operation Y g
500, 20, 30, 10, *

Ans. Evaluate portfix exprerswn '

500,20,30,10,x, +.

Token/symbol  operation Stack

500 push 500 500 |<—Top
30 |<—Top

20 push 20 500

30 |e—Top
20

50(

)] push 30

10 |«—Top

10 push 10 20
500

300 | €—Top

20)
500

" pop 10.and 30

push (10 30)

720 |€— Top

" pop300and20
‘ pop300an =50

' push(300+20)

Q.17. Transform each of the followmg expressions to infix form:
» (@) +*ABC . .
S () -+/ACT DIEFG

Ans.;

An's

(a) Reverse the prefix expression.
CBA*+

Symbol Stack infix

c  C C

B oy B CB

A A CBA

% Ceip x C B #A

+ + C+B*A
s0, ExpressionC+B*A
‘New Roverse if

- A*B+CAns
(b) Reverse the expression
GFE/DCA/+-

Symbol  Stack  Expression

G G G

F F GF

E E GFE

/ / GFE

D D GF/FD

7 1t GEFE1D

c C GUF)TDC

A A G (F/F)T DCA
/ / G(F/E)1 DC/A
+ + G(F/E)1 D+C/A
- = G-(F/E) 1 D+C/A

so Expression is G - (RE) 1 D+ C/A
new Reverse if

A/C+D 1 (EF)-G Ans.

Q.18. Write an algorithm for Merge sort procedure.

Ans.

Step 1:
Step 2:

1=0,J=0,K=0

Repeat Step 3
WhileI<=N1-1andJ<=N2-1
IfList 1 [I) <List2 {J] then

List3 [K]=List 1 [1]

I=I+1

K=K+1
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while )= W)
SERNIN B REBIT
Step 7 =1
K=K

Q.19 Write SQL commands for () tagd) on the bacis ol SPORTS

relation piven belaw -

[3¥eca & S i
NS Qrel N | Geel | Gawy | G Gan
10 7 | smth [ Ovker ‘H‘_‘S.wnrn A
11 8 | Rw | Jome | A | Sam i ¢
12 7 K.'mr'l Sﬂrrm_w;' B fotd! | B
13 7 Bina Tens | € | dems | A
14 8 | AMvae [Brretdll A | Ood | A
1 | 0] At | Chet | A | Ahics | C
(2)  Display the names of the students who have grade Cin
cither Gamel or Game2 or both.
()  Display the number of students getting Grade A in Cricket.
(c) Display the names of students who have same game for
both Gamel and Game 2. .
(d) Display the game taken up by the students, whose names
start with A.
Ans. (a) SELECT name FROM SPORTS

WHERE Grade ="C" OR Grade 2 -"C";
(b) SELECT count (*) from SPORTS
WHERE (Grade 1= "A" AND Game 1 ="Cricket")
OR (Grade 2 ="A" AND Game 2 =" Cricket");
(c) SELECT Name FROM SPORTS
WHERE Game 1,= Gane 2;
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I'7 F(AB,C.D)- BD+D
Q.21. Why do we need to network our systems ?
Ans. We need network our system to get lots of facilities and
benefits form networking
System. Because, computer networks allowing user to
share and exchange the resources
and data over the network system. Following benefits
can get by network system
*  Data Sharing,
*  Resource sharing
*  Improving Storage cfficiency and volume.
*  Access flexibility.
*  Reduce costs on softwere
Boosts storage capacity
File sharing casier.
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